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Table 3. Anisotropic thermal parameters (A2, x 107 for atoms in Mn- and Sr-bearing

apatites.
(For Deposit)
A11 B22 £33 £12 £13 P23
Ca(1)
Stogs  37.1(4) 37.1 31(1) 31 0 0
Srgog  32.5(4) 32.5 25(1) 32.5 0 0
Mnyoq  37.6(5) 37.6 47(1) 37.6 0 0
Mng4o  35.5(4) 35.5 32.7(9) 35.5 0 0
Ca(2)
Srpe3  30.5(4) 35.5(4) 37.4(7) 37.7(6) 0 0
Stpog  25.2(4) 29.3(4) 33.7(8) 31.1(6) 0 0
Mnyoq  32.8(5) 37.9(5) 44(1) 37.1(8) 0 0
Mng4o  27.6(4) 31.8(4) 37.9(7) 30.9(5) 0 0
P
Srogz  21.1(5) 23.9(5) 34(1) 24.8(7) 0 0
Stgog  19.6(5) 20.4(5) 28(1) 23.6(7) 0 0
Mnyoq  24.3(7) 25.2(7) 46(2) 26(1) 0 0
Mng4o  21.0(5) 21.6(5) 34(1) 23.2(7) 0 0
o(1)
Stoes  37(2) 44(2) 55(3) 59(2) 0 0
Stgog  31(2) 44(2) 54(4) 56(2) 0 0
Mny oy 44(2) 56(2) 77(5) 78(3) 0 0
Mng 4o  35(2) 51(2) 52(3) 62(2) 0 0
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Note: The form of the anisotropic displacement parameter is:

exp[-(B11h2 + /322k2 + ﬁ33|2 + /312hk + ,313h| + ﬂ23kl)]
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